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Child Development and Pedagogy

9Rd % e st d e wemhe I
- Terer =1 AifeTr SR TR foet, aw-
[T/ 3HIRIA Hrfdel H T fohar &1 ?
(A) Hiuer foser
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(B) BHEI I gig T I FHIAT
(C) BE & JwH H FhHO o
FGET T AT HEAT
(D) TR TRIEA0T AT
Sfge forem &g mereA Tt A TS ST 3
WA Gameg 2 ;
(A) TIHAT i
(B) IR ohivsal
(C) +TETH Al Hisa
(D) I Shell hivsd
BEl w  OFk, @RI, Sgd DT
e € —
(A) e YAser
(B) 3TMissh grsier
(C) HHRIeH essh JAaer
(D) THRIHS VNfegesh JAaeH
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E'__
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(A) I, I I
(B) 1T IV
(C) I, 1T IV

(D) II, NI W& IV
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In the educational history of India,

who first time introduced  the
Fundamental Right to Primary
Education bill. in the Impernal
Council ?

(A) Kapil Sibal

(B) Jawaharlal Nehru

(C) - Gopal Krishna Gokhale

(D) Abdul Kalam Azad

Evaluation means — :

(A) to know the needs of students

(B) to know the intelligence of

- students

(C) to study the success and failure
of student's learning

(D) health checkup

Which curriculum did Mahatma

Gandhi emphasised for Basic

Education ?

(A) Art of Dance centered

(B) Art of Craft centered

_ (C) Bookcraft centered

(D) Art of Music centered
Saying 'good, very good, excellent' to
students is —
(A) verbal reinforcement
(B) non-verbal reinforcement
(C) positive verbal reinforcement
(D) negative verbal reinforcement
Which of the following are objectives
of Audio-visual Aid ? ,
I. To make teaching effective
II. To develop creativity among
students
III. To make students active
IV. To develop disinterest in
: subject matter
(A) I,1I and III
(B) Iand IV
(C) I,1Iand IV
(D) I, Il and IV
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A statement "Generally girls are poor

in mathematics," this is —

(A) research based judgement

(B) a gender biased judgement

(C) true judgement

(D) all of the above

The characteristic of Gifted Children

is —

(A) highly desirous

(B) 1.Q. more than 110

(C) enriched vocabulary

(D) all of these

In constructivism —

(A) children participate in the
process of learning passively

(B} education is teacher-centered

(C) education is child-centered .

(D) education is behaviourist

In which of the following conditions

does the emotional and social

development of the child will occur in
good manner ?

(A) When the child is considered as
important and his feelings are
respected

(B) When children are told to learn
more and more

"(C) When children get good marks in

the class
(D) When the  teacher teaches
children according to their

intellectual level

For building good

students — :

(A) there should be chapters in the
textbooks regarding character
development -

(B) lecture should be given on
character development

(C) the classroom activities should
be such that it may promote
character building

(D) the autobiography of eminent
persons should be taught

The part of educational process is —

(A) Teacher

(B) Student

(C) Curriculum

(D) All of the above

character 1in
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For an effective and permanent
learning, learner should have —

(A) opportunities to learn only

(B) desired level
motivation

of ability and

(C) requisite level of intelligence only

(D) ability to learn only

Match the following i
a) Republic : i)
b) Emile and

John Dewey
ii) Dayanand

Education Saraswati

c) The School iii) Plato
and Society

d) Sandhya
Vidhi

ay b c d

iv) Rousseau

- (A) () (iv) () (1)

B) Gv) @) @) (i)
© @ @ v) (i)
D) () G) @) ()

Who is the founder of 'Play Method of
teaching' ?

(A) Socrates
(B) Froebel
(C) - Kilpatrick
(D) Aristotle -

According to Scyrill Burt, the
Intelligence Quotient of backward
children is —

(A) above 120
(B) below 85
(C) below 120

(D) none of these

[ P.T.O.
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18.
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20.
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teacher has high emotional
intelligence quotient. It means —

(A) she is of high intelligence

(B) she is high disciplir{arian

(C) she has good humour

(D) she has equanimity of behaviour

Which of the following is the right
statement(s) with reference to quality
of objective tests ? -

L. These can be evaluated
speedily and easily

II. These are not influenced by
the individual effects

[II. Due to objectivity these are
more reliable and valid

IV. None of the above
(A) Onlyl
(B) I, II and III
(C) Only IV
(D) I and Il
The role of school is —
(A) conservation of culture
(B) refinement of culture
models - of

(C) developing new

culture
(D) all of the above

The most dynamic’ factor of social
change is —

(A) religion

(B) education
{C) government
(D) caste

'National Institute of  Visually
Handicapped (NIVH)' is situated at

(A) Shimla

(B) Kolkata
(C) Dehradun
(D) Delhi
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23.

24,

285.

26.
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A student in your class asks you
irrelevant questions everyday to
bother you. What will you do ? :

(A) Complain the Principal
(B) Scold him

(C) Talk to him

(D) Complain to his parents

Piaget's which stage is related to
abstract and logical thinking ?

(A) Sensory motor stage

(B) Pre-operational stage

(C) Formal operational stage
(D) Concrete operational stagé

As per recommendations of NCF,
2005, evaluation mode for students of
1st and 2nd standard should be —

(A) based on written test -

(B} based on oral test

(C) based on written and oral tests
(D) based on observation

What is the effect of education on
culture ?

(A) To maintain
culture

continuity on

(B) To help in forwarding the culture

(C)} Refinement of culture :

(D) All of the above

Software approach is related to

(A) Radio

(B) Television

(C) Computer

(D) Applying psychological
principles .

Dyscalculia is related to

(A) reading disability -

(B) writing disability

(C) numerical disability

(D) reasoning disability
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28.

29.

30.

To motivate the children to learn, the
teacher should promote —

(A) competition

(B) reward the children who stands
first in class :

(C) creation of appropriate situation

and environment for learning

(D) talented students of the class by

praising
Which of the folloWing is/are
the main component(s) of good

discipline —

I. Skilled Headmaster

II. Healthy Enviroﬁment

of School

111. Ideal Teacher

IV. Reward and Punishment
(A) LIIV
(B) LI, HOIand IV
(C) Iand III
(D) only II
Quality of an idéal teacher is —
(A) democratic attitude
(B) rhastery in subject matter
(C) knowledge of child psychology
(D) all of the above

"A backward child is one, who in the
middle (10-11 years) of his school

career is unable to do the work of the

class below that which is normal for
his age." Whose statement is this ?

(A) Scyrill Burt
(B) Termann -
(C) Taylor
(D) Marantis

\
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13 . UTET-1

First Language — ENGLISH

Each of the following sentences in Question Nos. 31-34 is broken into four parts
marked as A, B, C & D. One of the parts has an error in it. Identify it and mark on the
answer sheet : '
You need a password

to get access - , from the computer system .

A B / C / D
ﬂg_ve you / returned the book / whom you borrowed / from the library ?
A B & D
The pharmacist , will advice , which medicines , are safe to take .
A / B / C / D
I think / grey hairs / makes you look / very distinguished |
A B C D
In Question Nos. 35-38 select and mark the correct word for the blanks :
The conunitteeleft . ......ccvi s seats after deciding the matter.
(A) his (B) her
(C) their (D) there
Ships:saill: (St sl the seas.
(A) from (B) across
(&)} under i ~ (D) into
Iam busy s fooiua e I shall not gd with you.
(A) therefore : (B) because
() however ; (D) but
The teacher wants the children to feel ....................... . about asking questions when
they do not understand. ' ’
(A)  hopeful (B) reluctant
(C) sorry (D) confident

Select the word which means the same as the italicized word in the given sentence.
She was amazed how little he had changed.

(A)  very angry (B) very happy

(C) very surprised (D) very confused

Select the opposite of the italicized word in the given sentence :

Please acknowledge receipt of this letter..

A) deny (B) deliver

(C) agree (D) praise

Choose the word to which ‘un’ cannot be prefixed to form a new word.
A) conscious (B) able

(C) fortunate (D) fertile

Choose the word with incorrect spelling.

(A)  Arithmatic ST (B) Algebra

(C) Geometry (D) Mathematics

* 901 * i FREO.
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43.

44,

45.

46.

Read the following passage and answer the Question Nos. 43-47 that follow :

The king turned round and saw a bearded man running towards them. His hands
were pressed against his stomach. from which blood was flowing. When he reached
the king he fell fainting to the ground. The king and the hermit removed the man’s
clothing and found a large wound in his stomach. The king washed and covered it with
his handkerchief. At last the bleeding stopped.

The man began to feel better. The king brought fresh water and gave it to him. Then
the king with the hermit’s help, carried the wounded man into the hut and laid him on
the bed. The king tired by his walk and the work he had done, lay down on the floor
and slept through the night. When he awoke. it was several minutes before he could
remember where he was or who the strange bearded man lying on the bed was.
“Forgive me !” said the bearded man in a weak voice.

“I do not know you and have nothing to forgive you for,” said the king.

“You do not know me, but I know you. I am that enemy of yours who swore revenge
on you, because you put my brother to death and seized my property. I know you had
gone alone to see that hermit, and I made up my mind to kill you on your way home.
But the day passed and you did not return. So I left my hiding place, and I came upon
your bodyguard, who recognised me and wounded me. I escaped from them but I
should have died if you had not dressed my wounds. I wished to kill you, and you
have saved my life. Now. if I live, and if you wish it, I will serve you as your most
faithful servant and will order my sons to do the same. Forgive me !”

The king was vefy glad to have made peace with his enemy so easily, and to have won
him over as a friend.

The bearded man was — :

(A) a hermit. ; (B) the king’s enemy.

(C)  the king’s bodyguard. (D) the king’s servant.

The king washed and dressed the wound because he wanted to —

(A) make peace with the bearded man.

(B) help the hermit.

(C) help a wounded man.

(D) have the bearded man in his service.
The bearded man asked for the king's forgiveness because —

(A)  he slept on the bed while the king slept on the floor.

(B) the king's bodyguard wounded him.

(C) he wounded the king’s bodyguard.

(D) while he wished to kill the king, it was the king who had saved his life.
The bearded man swore revenge on the king because —

@ the king put his brother to death and seized his property.

(B) the king had gone alone to see the hermit.

(C) the king's bodyguard wounded him.

(D) the king wanted him to be his faithful servant.
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The king was very glad because — '
(A)  he had a peaceful sleep through the night.
(B) he had won an old enemy over as a friend.
(C) the hermit had helped him.
(D)  he had helped a wounded man.

In Question Nos. 48-51 identify the appropriate alternative from the given ones for
filling in the given sentences :

The triangle —: o vaismgs three sides are equal is called an equilateral triangle.
(A) whom : (B) whose

(C) which (D) who

.................. villages were washed away by floods.

(A) One (B) None

(©) Any (D) Many

Wessets dersudat s Hevd for Delhi just after ten.

(A) off , (B) on

{€)iiin (D) aside

Our captain said that we .....cc.ccococeennnnnn. play a match.

(A) shall B) wil : :
(C) can (D) might

Read the passage and answer the Question Nos. 52-56 that follow :

Let us examine several situations at school and at home that hurt pupils and make
them unhappy because of that hurt.

The most common is, of course, the instant when you get a good scolding from your
teacher. If you realiSe that she is right, you feel less hurt, although you wish she had
not shouted at you in the presence of other pupils. If you are intelligent you will not
repeat the mistake or carry the hurt with you. You see her point and say ‘sorry’ and
leave it at that. But if you are not intelligent and you take her words to heart, you sulk
and withdraw, or you react and hurt someone else in turn. This is very unintelligent
because you will only hurt yourself further.

Another situation that causes hurt is when you are compared with a student who is
brighter or cleverer than you. Do you agree ? It may be mother or father at home who
constantly ask you why you can’t get marks as high as your classmate. They don't
realise, unfortunately, how much that hurts you, but imagine their remarks will make
you fare better the next time. Similarly, sometimes in class too, teachers compare
students and rank them as ‘Very Good’ or ‘Average’ or ‘Poor’.

We care so much about what other people think of us, that we always want them to
think highly of us. Only with friends can we share our true picture of ourselves.

As a pupil, when you commit a mistake, you wish that —

(&)  the teacher should not shout at you in the presence of other pupils.

(B) the teacher should shout at other pupils also.

(C) the teacher should not scold you at all.

(D) the teacher should ignore the mistake.

* 901 * [ BT.0.
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Intelligent students on being scolded —

(A)  repeat mistakes and carry the hurt with them.

(B)  sulk and withdraw.

(C) hurt others.

(D)  do not repeat mistakes or carry the hurt with them.

If you are not intelligent enough, on being scolded you —

(Aa) forgive- one who scolds you.

(B}  do not carry the hurt with you.

(C)  sulk and withdraw.

(D) = say sorry and leave it at that.

When someone compares you with a brighter student, it —

(A causes hurt (B) gives pleasure
(C) motivates : (D) makes you fare better the next time
We want others to think of us —

(A)  in a poor manner.

(B} as they may like it.

(C) as we are with our virtues and shortcomings.

(D)  highly. |

In Question Nos. 57-60 select the word with the correct spelling for filling in the
blanks in the given sentences :

After years of war, the people long for a lasting .................. -

(A)  pace _ (B) piece
(C) peace (D) pice
Blease: seaie ol dnians . our sincere apologies.

(A)  expect ' (B) accept
(C) . exceed ; ' (D) except
People used to . .5 20581 . that the earth was flat. -
(A) beleive . (B) beleave_
(C) believe (D) belive
The pain was almost more than he could' ..................... ;
(A) bear (B) bare
(C) beer : (D) bier

* 801 *
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Second Language — ENGLISH

Read the following passage and answer the Question Nos. 61-65 that follow :

Again the annual exams were held and as chance would have it, again I passed and
Bhai Sahib failed. I did not work very hard but somehow managed to stand first in
class. Bhai Sahib had put heart and soul into his work. He had swallowed every single
word of the course. He worked so hard but still he failed. I felt sorry for him. When
the result was announced he burst into tears and I also began to cry. My joy at my
success was halved.

Between Bhai Sahib and me there now remained a gap of only one class. An evil
thought sprang up within me : if Bhai Sahib failed another year I would be his equal.
On what basis then would he preach to me ? But I forcibly thrust this thought from
my heart. ‘After all, he scolds me for my own good.’

By now Bhai Sahib had softened to a great extent. Several times, even on finding an
opportunity to scold me, he showed great patience. I became more and more self
willed and began to take advantage of his tolerance.

The writer stood first in his class in the exam —

(A) because he had worked very hard.

(B) because by chance he had managed to do so.

(C) because Bhai Sahib had helped him.

(D) because his teachers had helped him.

The writer was sorry for Bhai Sahib because —

() in spite of the hard work, Bhai Sahib failed.

(B) Bhai Sahib was very intelligent.

(C) heloved Bhai Sahib very much.

(D) Bhai Sahib was a hard working person.

Upon his success, what evil thought sprang up within the wrlter 2

(A) Bhai Sahib is my elder brother.

(B) May Bhai Sahib pass this year !

(C) Bhai Sahib scolds me for my own good.

(D) If Bhai Sahib failed another year. I would be his equél. Then he would not
preach to me.

When Bhai Sahib failed again. what changes did the writer feel in his behaviour ?

(A) Bhai Sahib became much impatient.

(B) Bhai Sahib scolded him time and again.

(C) Bhai Sahib showed softness to a great extent.

(D) = Bhai Sahib lost interest in studies.

(PO
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What was the result of Bhai Sahib's tolerance ?

(A) The writer became more and more self willed.

(B) The writer became more hard working.

(C)  The writer became more respectful towards Bhai Sahib.

(D) The writer began to scold Bhai Sahib. :

Read the following passage and answer the Question Nos. 66-70 that follow :

A long time ago there lived a king and qﬁeen who longed to have a child.

One day, when the queen was resting near a spring, a frog crept out of the water and

. said to her, “You shall have your wish. Within a year you shall have a little girl.”

What the frog said came true. The queen had a child who was so beautiful that the
king gave a party in her honour. He wished to invite all the wise women in the land,

_ for these wise women could grant fairy gifts to his child. There were thirteen of them,

but only twelve were invited. as the king had only twelve golden plates.
After the- dinner was over, the wise women in turn rose from the table and named -
their fairy gifts to the little princess. The first gave to her goodness ; the second.
beauty ; the third, riches : and so on. up to the last.

Before the twelfth wise woman could speak. in walked the thirteenth. The woman was
in great rage because she had not been invited.

She cried in a loud voice, “When the princess is fifteen yeé\rs old she shall prick her
finger with a spindle and shall fall down dead.”

The king and the queen wished for — -

(A) a golden plate ‘ B) ason
(C) adaughter , (D) a child
How many wise women were there in the land ?

(A) Thirteen (B) Twelve:
(C) One (D) None

The king did not invite the thirteenth wise woman because —
(A}  he did not know about her.

(B) he had no more golden plates left.

{C)  she could not grant fairy gifts.

(D) she could grant fairy gifts.

The thirteenth wise woman was in rage because —

(A) the other wise women teased her.

(B) the king had not invited her.

(C) she did not like the other wise women..

(D) she did not like the princess.

The thirteenth woman —

(A) blessed the princess. © (B) ignored the princess.

(C) cursed the princess. (D) avoided the princess.

| % 901 * |




T1

el

72.

73.

74.

75.

76.

7

78.

9.

80.

23 : UTET-1

In Question Nos. 71-75 identify the appropriate alternative from the given ones for
filling in the given sentences :

The thief 05 i n i . run away before the police came.
(A) has : (B) have
(C) had (D) was

I know the man .. ... o, . wrote this letter.

(A) who (B) whom
(C) how . (D) whose
..................... dog is a faithful animal.

@ A {B) The

(C) One : (D) An

A number of plays were written ..................... Shakespeare.
(A) from : B) of

(€} - (D) by

He has been . 2.l for ten minutes.

(A) sing (B} - sang
(C) singing (D} sung

In Question Nos. 76-80 select the word with correct spelling for filling in the blanks in
the given sentences : '

I shall never ..... SRR those happy moments.

(a) forget ' (B) foreget

(C) farget (D) fareget

The storyteller narrated the ..................... of Heer and Ranjha.
@) tai (B) till

{€) tale (D) tile

How much money has been ........................ tous ?

(A) aloted _ (B) alloted

(C) alotted (D) allotted
Itowas dficalt 1o .o s vokens between the two candidates.
(A) dicide (B) diside

(C) decide (D) decyde

[am .........coreennn.... to all the teachers for their help.

(A) greatful (B) grateful

(C) greetful (D) gratefull

* 901 * [ R.T.O,



UTET-1 : ' 24 ' : L X

In Question Nos. 81 to 85 select the appropriate word to fill in the given sentences :

Bl We TRIISE fiyivte S Dok obey the traffic rules.
(A)  never | (B) often
(C) always (D) sometimes
B2 MOWHE 4t st his father’s business.
(A) looks into ' (B) looks after
(C) looks out (D} looks back
83. We want the children to have the ..................... possible education.
(&)  best | B good
(C) very good 7 (D) better
84. Shedalled il ool she did not read.
(A) although ' (B} because
(C) anyhow (D) while
85. 1like to walk around in .................. foot.
(A) Dbear (B) * beer
(C) brea | (D) Dbare

Each of the sentences in Question Nos. 86-90 is divided into four parts marked A, B,

C & D. One of the four parts has an error in it. Identify it and mark on the answer-

sheet :
36 Ravi forgot / how much / he pay / for the watch .
; A B C D
His sister Beena , is the more intelligent . student in her class .
B / . / /
A B € D
38 There were arﬂple time / to get / to the airport .
: B B C D
89 Maya has not been going / to school / since a week |
' R B € D
Shahjahan built , the T aj Mahal in memory of , her queen Mumtaj
* A / B 4 C / B

l*QOl*
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Mathematics

o o fomml = afeer 100 @ @ 9L

TG ANE & 6 —
(A) Toremell ufqsremet i€ & 8

B) el = g T TR I 2
(c) Tl = wHfes oY, RGOS

g | A T
(D) Tt # wEfew e SR et

3G SRR & |

92.

3:21 PM. ¥ 5 ®e 28 e @ =
qHg a1 ?
(A) 9:53 P.M.
(B) 9:49 AM.
(C) 9:07 P.M.
(D) 9:53 AM
: 93.
= F refid S ®1 HIH-A1 RIS Teid
€2
(A) B)
©) 1 -
ot Toreor Y oA fafy w TEST 94.

>
(A) S Y I H AR
T3 | T 3R
T 4 ol 1 &R

o ¥ IR & SR

(B)
(©)
(D)

3 901 *|

If Intelligence Quotient of a student is
100, it means that —

(A) the student is genius.

(B) intelligence level of the student

1S maximum.

mental age of the student is
more than chronological age.

(€

(D) - mental age of the student is
same as the chronological age.

What time is 5 hours 28 minutes
before 3:21 P.M. ?

(A) 9:53 P.M.
(B) 9:49 A.M.
(C) 9:07 P.M.
(D} 9:53 A.M.

Which method for representation of

1
— is wrong ?
2 g

(A) e

(€ (D)

The inductive method of mathematics
teaching is based on the principle —

(A) from unknown to unknown
(B)
(C)

from unknown to known
from general to particular

(D) from particular to general

[P.T.O.
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95. HIEd J AU W FeT foh 3u oo B

96.

97

98.

99.

(©

TRE TR TRE 9 TURE $9% 57 & 7
T T8 T & —

(A) 11111.00 %o
(B) 12111.00 To
(C) 11121.00 %o
(D) 111111.00 Fo

(2722% ~1282%) T A & —

(A) 400
(B) 240
(€): 2925
(D) 144

TF U9 H AGaE 9 UH N, 6 SE A

T 4 GHI HT I & EGT F SeT B

B I ST HI TS B —
(A) 6T (B) 8|
5-6 TEY (D) 4 9=

@@uiem%trmﬁagﬁ, %mqr:'r}ﬁ
qar 10 HeX UHl & FW Bl @ &
TR & — '
(A) 40T
(C)- 32:54 (D) 37-57

x % 59 99 & 9 AOB U WX @l
e S —

(B) 35H

B
2x + 30°
2x - 50°
o A
(A) 30° (B) 40° .
(C) 45° (B} 302

'

34

95.

96.

97

98.

99.

B3

Mohan told her mother that he has
saved rupees eleven thousand eleven
-hundred eleven in his cash-box. This
amount is —

(A) Rs.11111.00
(B) Rs.12111.00
(C) Rs.11121.00
(D) Rs.111111.00

The square root of (2722 - 1282 ) is —

(A) 400
(B) 240
(C) 225
(D) 144

The volume of a cube is same as the
volume of a cuboid having length
9 cm, width 6 cm and height 4 cm.
The length of side of cube will be —

(A) (B) 8 cm
(C) (D) 4 cm

6 cm

56 cm

% part of a pole is in mud, % part is

in water and 10 metre is above the
water. The length of pole is —

(A) (B) 35 m
(C) (D) 37-5m

For which value of x, the AOB will be
a straight line —

B

40 m
32:5m

A) 30°

(B) 40°

(C) 45° (D) 50°
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1 N
100. A e = 0076 gl
i
e
(A) 276
(B) 2760
(C) 27600
(D) 0-000276

101.

102.

103.

104.

100 <R 400 TOY H WIR T o
60 $94 Ud 59 ® W § s9 KT |
gfeerd oy & —

(A) 15%
(B) 20%
(C) 25%
(D) 30%

@Wﬁﬁméﬁﬁﬁ 10 U9 g &oar
SHE! YR 49 i X d 200 o SHI

,%&l%aaéaﬁ%maﬁméﬁﬁ

el GARTIT BT —
(A) 240 %o

(B) 260 %o

(C) 275%o

(D) 300 %o

04 T AR STl THH BT 1 aR=T
601@"[%!%‘5?3%@[6{31&1?{@%_.
(A) 16 |Hl 3R 20 THI

B) 14 T 3 223

(C) 12 T R 24 §Hl

(D) 10 9T 3R 26 TH

ik x 3R y | ‘IUW g YFER & %
Jxy =10 @ (x+y )F A Tl & Tl
Ve ;

(A) - 20
(B) 25
(C) 29
(D) 50

35 UTET-1
100.1f 361.18 =0-0276, then the value of
1
0-0003618 " be—
(A) 276
(B) 2760
(C) 27600
(D) 0:000276

101. 100 oranges are bought for Rs. 400
and sold at the rate of Rs. 60 per
dozen. The profit per cent is —

A) 15%
(B) 20%
(C) 25%
(D) 30%

102. A farmer deposited Rs. 200 in a mini
bank at the rate of simple interest
10 paise per rupee half-yearly. After
one and half years, the bank will
return to him a total amount of —

(A) Rs. 240
(B) Rs. 260
(C) Rs.275
(D) Rs. 300

103. The perimeter of a right angled
triangle having 24 cm base is 60 cm.
The remaining two sides of the
triangle are —

(A) 16 cm and 20 cm
(B) 14 cm and 22 cm
(C) 12 cm and 24 cm
(D) 10 cm and 26 cm

104. If x and y are two integers such that
Jxy =10, then the value of (x+y)
cannot be — : ,

(A) 20
(B) 25
€ 29
(D) 50

¥ 901 %] [P.T.O.
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105. §&91 @t 5, 7, 11, 19, 36, 67, 131 &

106.
#R 3T 9 13 o &1 3R 9 | 6 et

107.

108.

109.

ToAd W& § —

(A) 36

(B) 11

(C) 19

(D) 67

U URe A AN 1 HEIE YR 18 o

& it ifh & wigwt wt Tem B —

(A) 23 :

(B) 24

(C) 25

(D) 30

1 SHMHIR | iR g & —

(A) 0-01

(B) 10

(€) 100

(D) 1000

fo ¥ ZABD @41 ~CBD W&R § —
A D

B
(A) TEH HIOT
(B) I T
(C) THR vl
(D) &7 iUT
Iic T g9 Ht Oeer w1 9 ser R
S A T g9 # Uk SR 3u% = §
ST BT — '

(4) i1

s
5
184 §

n+1:2
t+2:1

(B)
€
(D)

36

105.

106.

107.

108.

109.

@ ;
In number series 5, 7, 11, 19, 36,
67, 131, the wrong number is —
(A) 36
B) a1
(C) 19
(D) 67
In a queue, the serial number of
Manoj is 18th from first and 13th
from the last. If there are 6 girls in
queue, then number of boys in queue
is —
(A)
(B)
(€)
(D)
The decimetres in 1 decametre are —
(A) 001
(B) 10
(C) 100
(D) 1000

In the figure, ZABD and ZCBD are
mutually —

A Dt
B (0

(A) adjacent angles
(B) complementary angles
(C) alternate angles :
(D) corresponding angles
If the radius of a circle is increased by
1 cm, then the ratio of new

circumference to" the new diameter
will be

~(A) —:1

B) =n:1
(€)
(D)



13 k=

112

133,

114:

37
g x==, a x+ - % HA
1+- e
1+~
: X
T —
5 4
(A) % v-(B) =
3 Ta
(€ % (D) 10
i,%,%ﬁwﬁa@wmaﬁﬁﬁ
T FT & —
1
(A) 15
1
(B) 24
1
(C) %0
(D) 399 | i Tl

foreo & T WRA A T A ol § 3 %
=F W 8 ¥ 9 § e R W 15 W
fopam | el 3TR B —

(A) 24

(B) 32

(C) 40

(D) 48

Rt goies &1 o HH W THR 5 WH
o P & HE TR @ et & 2

(A)
(B)
(C)
(D)
2x[3+2x{3-(6+2)}+7] FAFE —
(A) ‘
(B)
(C)
(D)

N = O

~

110.

105 5

112.

113.

114.

UTET-1
1
If xza, then the value of
1 :
X+ 1 will be —
I o
T+ ==
X
: 5 4
A) — B —=
(A) 7 (B) =
3 11
CYic= D) —
(€ 7 (D) 10
In —2—, é, E, the difference between
S Se
largest and smallest fraction is —
1
Al e
(A) -
1
B it
B) 24
1
o s
& 40

(D) none of these

In a question of division, Ravi divided
by 8 instead of 3 mistakenly and got
answer as 15. The correct answer will
be — ;

(A)
(B)
(C) 40

(D) 48

Which digit cannot exist at place
value of unit on squaring an integer ?
(A) :
(B)
(C)
(D)
The value of
2x[3+2x{3-(6+2)}+7]1s —
A) 14 :

B) 20

(C) 24

(D) 34

24
32

u N = O

[P.T.O.
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115.

116.

117,

118.

119.

120.

it 5 feH/de # w9 O 9
FoTh 42 e H W ¥ oo g 2|
5% W Y fommem Bl g & —

(A) 3 et

(B) 3-25 fepHt

(C) 3-50 fFHt

(D) 4 foet

T BT AT GE §

(A) O

B) 1
< 2
(D) 3
mmaﬁwﬁ@rﬁwmmm
odo BRI —

A) 13R6

(B) 23R 6

(C) 13K 12

(D) 2 3R 12

g el ST oY # geon & HeER @
ql 39 o8 @ 1y KT g —

(A) FEIR

(B) TR

(C) THAR

(D) feER :
30 e # uEl i v ol G gRT g
AT HI0T B —

(A) 10°

(B) 15°

(C) 30°

(D) 180° _
I xH x % FTAF 368 A x & —
(A) 45

(B) 50

(C) 60

(D) 75

38

115.

116

1 Bl

118.

119.

120.

[* 901 %]

X]

Geeta arrives at school from home in
42 minutes by travelling at a uniform
speed of 5 km/hour. The distance of
the school from her home is —

(A) 3 km

(B) 325 km

(C) 3-50 km

(D) 4 km

. The smallest pﬁme number is —

(A) O

B) 1

{C) 2

D) -3

The HCF and LCM of first three
consecutive even numbers will be —

(A) 1and6
(B) 2and6
(C) 1and 12
(D) 2and 12

If the first day of a leap year is
Tuesday then the last day of that year
would be —

(A)
(B)
(C)
(D)

Wednesday
Tuesday
Monday
Sunday

The hour-hand of clock will rotate in
30 minutes by an angle of —

(A} 10°

(B) 15°

() 30°

(D) 180°

If x % of x is 36, then x is equal to —
(A) 45

(B) 50

(C) 60

(D) 75
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ENVIRONMENTAL STUDIES

121. f7=9 ¥ ¥ gzt W swE-w GRRAfaE 121.

o FS1 7 ?
() YT
e
© =

(D) Ff¥ IH 122.

122. TgfeTel Td o9 HHed, WRd WHR g
otk % &% § foa S are SR § —

(a) wEERT AR

(B) TEieRXw 4t

© wEfm

(D) 3& & |

123, Fe 8 ¥ SE-| g8 gafed 77§ 2

(@) Sigw — SEE

B fome — FERA AR

(©) SISt — =

(D) - = — W

124, fr= 8 | wfeaell =1 - = A" w124

3l § ST A © ?

‘(A) YIEA AT IS :
(B) eI T HEEH
(©) TARIRE qe THEH
(D) Wawﬁﬁmm

123.

Which of the following is largest
ecosystem in the Earth ?

(A) Desert
(B) Ocean
(C) Forest

(D) Agricultural land
The award given by the Ministry of

Environment and Forests, Government
of India in the field of environment
is —

(A) Paryavaran Mitra

(B) Paryavaran Shree

(C) Taru Mitra

(D) Vriksh Mitra

Which of the following pair is
mismatched ?

(A) Jatropha — Biodiesel

A (B) Ringal — Timber

(C) Oak — Fodder
(D) Pine — Resin

Which of the following pairs of
activities differentiate plants from
animals ?

(A) Respiration and Reproduction
(B) Mitochondria and Centrosome
(C) Chlorophyll and Vacuole

(D) Nucleus and cell membrane

I P T.O.



126.

127.

128.

© Toorsed wrre

(D) framse seermEe
11Wﬁmm%—
fovs e fomw
forve SFgE feem
SR qfgen fkag
forga St fea™

1992 # Yaiexy gRan § §atad gum geat
FHeA’ fora wex § gan ?

(&) TR
®) f& fe s
(€ =f¥iTed
(D) w=HEH

Ifd SA-"R S SHF YHfow ' W
TH: A % fag, f 9 ¥ 59 W welen
fea ® 2

(A) IRIRE FHA H I ST

(B) uM 3R T & I H GABA TGl

ST |

(€) U 3l w1 Afue fafor fean
iGN

(D) ‘aﬁwmmﬁmﬁmm |

(a)
®)
©

(D)

40

[X]

125. 'Bhopal Gas Tragedy' is caused due to

126.

127.

128.

Methyl cyanate
(D) Methyl isocyanate

11th July is celebrated as —
o ‘
B)

(&)

World Health Day

World Population Day
International Women Day
(D) World Water Day

In 1992, first ‘Earth Convention’ for
the safety of environment was held in

city —
12V
(B)
(@]

Copenhagen
Rio de Janeiro
Washington
(D) Stockholm

Which of the following measure is
most appropriate to restore the
underground water in its natural
stage ?

(A) Sowing of traditional crops

(B) Increase the area of paddy and
sugarcane cultivation

(C) Construction of more Artisan
wells '

(D) Enhancement of industrialization
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129

130.

131.

132.

T B —
@
(B) ST § wafgew IquET i

(C) Wit SusE § fgda s @
(D) Tedios Susiar § wafas I =i

= 9§ O 3R 9% ¥ SYER & HEl
forpea gfe —

@) ® AR WG (a) T gfET % S °
(i) | SR (b) TERl % 901 9
(i) @ T (o) Hefl o SiSil HTAE H

IURE U ATUSH H

(iv) TAHTE (QFTFIIE
a b= e d

A i i ii iv

5] G Sl 1

(C) v = i 11 - !

15) 8 (e || L 7 |

AT "R W, 99 SiE i gl B
e E —

(A)
(B)

IUCN
UNICEF
(C) IUPAC

(D) WHO

W 3 FFe w9 8 O deEa W g8 2
(a)

(B) U™

(C) ST YW

(D) #HENI

‘*901%
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~130.

129.

131.

132.

UTET-1

If a grasshopper is eaten by a frog,
' then the energy transfer will be
from —

)
(B)
©)

producer to decomposer
producer to primary consumer

primary consumer to secondary
COnsumer .

(D) secondary consumer to primary

consumer

Select the right option of disease and
its domestic cure —

(i)
(i)

_cut and wound (a) Fresh coriander seed

b)

(iii) swelling of eyes (c}

simple fever Turmeric powder

Fenugreek seed tea

(iv) toothache (d) Asafoetida powder
ai -bxe d

(A ii i ii iv

B) 1 ii 1| AR

(@)= iy = il = i i

(D) i 1 o e

International Organization for the
safety of wildlife is —

(A) IUCN

(B) UNICEF
(é) IUPAC
(D) WHO

The 'Pani Panchayat” is started in

which state in India ?
2\
(B)
©
(D)

Kerala
Rajasthan
Uttar Pradesh
Maharashtra

[ P.T.O.
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133. $SiM wa §d @ o At f59 o 31 133, Which of the following sun's rays is

ekt g ? A stopped by ozone layer ?
(B) SR foeol (&) Infrared rays

B) Xfwyo ’ tB) X-rays

(© '. TR foRvor (©) Ultraviolet rays

(D) =7 J = 7= : (D) None of these

134. The Author of the book '‘Sanrakshan

Ya Vinash' is —

134. "H&w 71 fam’ s ¥ ows § —

WE vt (A) Sarala Bahen
(B) Sl Rl (B) Vandana Shiva
(€ o= e (C) Jim Corbett
(D) Iep avE : (D) Ruskin Bond
135. 8A%e % YR W 9RG F T99 91 U9 135, In terms of area, India’s largest state
e is — :
(A) S YW - (A) Uttar Pradesh
(B) IS 3 | (B) Rajasthan
© weRTZ (C) Maharashtra .
(D ooy . (D) Madhya Pradesh

. g 136. 'Global warming' means —
136. ‘9% &1 FHEA’ & 319 ¥ :

(A)'uﬁ?mﬁﬁgmqwﬁ%ﬂmm?ﬁ
s

(B) 9H% ® SOR-9=T M

(A) increase in temperature of the

Earth due to greenhouse gases
(B) high and low tide in the sea

(C) emission of gases in atmosphere

(C) =7 Sl & agEved § i seaeH from dense forest
(D) 9o HS & HRY geat % a9 o Cir (D) increase in temperature of earth
B : due to wind energy

* 901 *
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137.

138.

139.

140.

‘shrele 2 fafy’ wae 1 o § —
(A) T I HE A

(B) aﬁ}ﬁwmﬁaﬂﬁﬁ'

(€ fafs = qe=arm o

(D) o% & 969 FH |

Ieita ol | Ufaifos sowal au gfda =
HEIRG (&R0 ) 1 hgelil & — :

@) g fedifsm

(B) ®H wwE

(C) WHE

(D) 378 @ i3 el

et i A e SR & —

(A) T g

e 1 sie

R

A A Sew-wtE I £, St wfom
o :

(B)
(&)

(D)

- (A) wE ¥ o 9| =

(B) SgAUSH H TR S BN
(C) siefie T erufire it wE # wed
i .

(D) W ¥ FEtE e B 9N ¥
it § B =

* 901 * |

137.

138.

139.

140.

-UTET-1

‘Carbon Dating Method’ is used to —
(A) locate place

(B) identify the age of -material

(C) identify the script

identify the material

The corrosion of historical buildings

and sculpture by acid rain is called —
(A) Dry deposition

(B) Stone Leprosy

{C) Aerosol
(D) None of these

Main objective of 'Sparsh Ganga
Abhiyan’ is —

(A) Health Safety

(B) Cleanliness of Ganga

(b) Linking of rivers
(D) Réstoration of temples

Minamata disease is a pollution-related
disease which results from —

(A) Oil spills into sea

{(B) Accumulation of arsenic into

atrnosphere

(C) Release of industrial mercury

waste into water

(D)  Release of human organic waste

into drinking water

BP0,
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141. 9199 %I Wife™t & R -1 f92ffF 9% 141, Which vitamin degenerates after
g ST R 2 polishing the rice ?
(8) TERifas svA (A) Ascorbic acid
(B) FeHEIA (B) - Calciferol
(C) st (C) Thyroxin
(D) rEfEA " (D) Thiamin
142. @i e éfz“t’l'{, g & forg 97 | 9 g 142. Clove and saffron are obtained from
g2 which part of the plant ?
@ S= (A) Root
B : (B) Stem
€ T . {C) Flower
Bhenst . (D) Fruit
L 1::“? H § F ITEE 6 W:E““ P Tl 143, Which of the following is not the ‘State
€ ? Symbol’ of Uttarakhand ?
@ = (A) Monal
B o {(B) Rhododendron
€ =™ k
(C) Tiger
D Eﬁ(ﬂ?i
(D) L ' (D) Musk Deer
144. TR 99/eR9 & 991 & fod &9 yor % : '
R F_ 144. There are three R's to save our

environment which are
O Sl e o {A) Reduce, recycle and reform
(B) 3?:3"-'{@!11, E-‘-I:G"{?Fﬂ, E?ﬁ'quT
(C) ¥ ST, T1:=%9 iR [H:37Em
(D) ¥ IYEAN, TA:FH JR TAT=

145. Sl 1 AIGEHE HG & —

(B) Reuse, restructure and reform
(C) Reduce, recycle and reuse
(D) Reduce, recycle and restructure

145. Non-pollutant source of energy is

@ A S (A) Nuclear energy
(B) R FeI : _ (B) Solar energy
(C U (C) Petrol

(D) S5 (D) Diesel

| % 901 * |



(%] |
146. foa T saH = 9@ § ‘e agy sEn
FET Sl o ?
@A) ﬁmwr&zrr@mwm
(B) TSI T I
(C) Tual U= SaH
(D) T | = &
147.

................

(D) =EHeTd

‘g1 g e’ Siae A Sl € —
(A) T % YUH g@E

(B)
(C) e % gUq d<E H

(D) SoIE F JUH T H
JeRTSl-HY i foRar H B Wl g SR
e et 9§ —

(A) HET SEATTERS

(B) HTEZISH

(C) SRS

(D)

T 9 & TRl

149.

TG & 999 9@ |

150.
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146. Which of the following National Park
was formerly known as
National Park’ ?

A&
(B)
(€
(D)

‘Hailey

Jim Corbett National Park
Rajaji National Park
Dﬁdhwa National Park
None of these

Kwashiorkor is a disease caused due
to lack of —

A
(B)
©
(D)

147.

Carbohydrate
Protein
Vitamin

Iodine

148. The intensity of

measured by Richter Scale —
&)
. (B)
(®)
(D)

‘Wildlife Week’ is celebrated every yeai‘
on the —

(&)
(B)
©
(D)

......................

Volcano
Earthquake
Tsunami

' Cyclone

149.

1st week of November
1st week of Augﬁst
1st week of October
1st week of July.

150. The gas given out by green plants

during process of photosynthesis is —
@A)
(B)
(&)
(D)

carbon dioxide
nitrogen
oxygen

none of these

[%901*‘*

PO



UTET-1

46
TF E
SPACE FOR ROUGH WORK



1

47 ,
T & &g
SPACE FOR ROUGH WORK

*901%\

T . S

UTET-1

R EO.



D e e N

10.
14

2

13.
14.

i _ e

 UTET-1 48

Important Instructions

Immediately after opening the seals check to ensure that there is no defect in the
Question Booklet and all the pages are intact. If any defect is detected immediately

inform the Room Invigilator. If necessary, the Question Booklet will be replaced.
The candidate has to answer 150 questions in all. Each question carries 1 mark.
Answer the questions in the OMR answer sheet only.

Read the instructions given in OMR answer sheet carefully before answering.

There are four alternative choices against each question. Select the correct and

most appropriate choice and mark it with blue/black ballpoint pen in the right
bubble of the OMR answer sheet in such a way that ink does not spread out of the
bubble. '

Question Nos. 1 to 30 are related to Ch1ld Development and Pedagogy.

Question Nos. 31 to 60 are related to First language — Hindi OR English.
Candidate has to select the questions of only one language as the First language.
Answer the questions of the language which the candidate selected as First

language in his/her application form.

Question Nos. 61 to 90 are related to Second language — Hindi OR English

OR Sanskrit OR Urdu. Answer the questions of only one languagé which the
candidate has selected as Second language in his/her Application form.

Be careful that the language selected as First language cannot be takén;_';gs A

Second language.
Question Nos. 91 to 120 are related to Mathematics.

Question Nos. 121 to 150 are related to Eriizironmentél Studies.

‘Rough Work can be done in specified space of the Question Booklet.

Do not waste time in solving the questions. If you cannot answer a question

proceed to the next one.

Do not fold or damage the OMR Answer sheet any way.

After examination submit your OMR Answer Sheet to the invigilator. Candidates
are allowed to take away the carbon copy of OMR Answer Sheet and Questidn
booklet. ' '
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